Name ’/!' L Diff. Equations and Lin. Alg.
Math 3280 , B. Peckham
Quiz 27 Fall 2014

1. (3 pts) Use USING GAUSSIAN ELIMINATION (row reduction operations) on the “aug-
mented matrix” to convert it to row echelon form to find all solutions to the following system.
Write your answer in vector form
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2. (2 pts) Does the set of solutions to problem 1 form a \chtor subspace of ®3? Justify briefly.
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3. (3 pts) Find a linear combination of the three vectors [1} , lilj| , and

HHC cof > 4>-¢ .
4. (2 pts) If A is a 4 x 4 matrix, and det{A) = 1, what is det(24)? Explain briefly. %}’ 'ﬂﬁf\ﬂ[é}ﬂz
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5. (2 pts) Assume A and B are both 3 x 3 invertible matrices with respective'inverses A™" and

B~!. Show that the inverse of the product AB is B~1A4~!.
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6. (3 pts) Consider the differential equation: #(t) = (3z(t)° + t)°. Make the substitution
v(t) = 3z(t)® + ¢ to eliminate z(¢). What is the new differential equation in v and ¢? Is this
a useful substitution to solve the original differential equatlon?/" G C, f}% 2
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7. Extra Credit: (3 pts) Give an example of a 2 X 2 matrix A4, and two vectors % and v in R~

such that A% = A¥ but € # 7.
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